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01 At2teltl 1,040 1,040 0
Ott=E8ZNAIAY 23|
1,040,000& 1,040
= 416
Al 187
- 437
dstEH ES(TY) 9,219 9,219 0
= 3,688
Al 1,659
T 3.872
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
405 AHaHE = 9.219 9.219 0
= 3,688
Al 1,659
- 3,872
01 TRHEESFHS 9.219 9.219 0
OIS EH(SEED 5)
9,219,000 9,219
= 3,688
Al 1,659
- 3,872
M=) 106,858 145,360 238,502
= 53,429
Al 16,029
- 37,400
401 AIEHIZ SR 0HYI 106,858 145,360 A38,502
= 53,429
Al 16,029
- 37,400
01 AlZ2H| 106,858 145,360 A38,502
Ott=+8 13,560,000& 13,560
= 6.780
Al 2,034
- 4,746
(OES=INPIE D) 17,358,000& 17,358
= 8,679
Al 2,604
- 6,075
OdtE0e =10 75,940,000 75,940
= 37,970
Al 11,391
- 26,579
EBASEEANE =8 54,240 271,200 A\216,960
Il 27,120
Al 8,136
- 18,984
401 AIEHIX SO 54,240 271,200 N216,960
) 27,120
Al 8,136
T 18,984
01 Al&H| 54,240 271,200 N216,960
O0IMZXNMZ = =+
54,240,000& 54,240
Jl 27,120
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Al 8,136
T 18,984
ZUR Sexd 12,050 0 12,050
= 6,025
Al 1,807
- 4,218
401 Al HIZL 01| 12,050 0 12,050
= 6,025
Al 1,807
- 4,218
01 Al&HI 11,250 0 11,250
O2UR s4xE 11,250,000 11,250
= 5,625
Al 1,687
- 3,938
03 Al 20HHI 800 0 800
OZ=SRE AMES 7|
800,000 800
= 400
Al 120
- 280
SL XL (MEAY) 64,000 64,000 0
Al 54,400
T 9,600
401 Al HIZ 2018 64,000 64,000 0
Al 54,400
- 9,600
01 AlZH| 64,000 64,000 0
O=ZZHIANL 64,000,000 64,000
Al 54,400
- 9,600
AHEALS 193, 168 81,000 112,168
= 135,218
Al 40,565
- 17,385
401 AlZHIZ SO 193,168 81,000 112,168
= 135,218
Al 40,565
- 17,385
01 AlZH| 191,968 81,000 110,968
OAIZAIE 228 S 1,540,000 1,540
= 1,078
Al 323
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- 139
OHAFEHAIL 190,428,000 190,428
= 133,300
Al 39,990
- 17,138
03 A& THYI 1,200 0 1,200
OAsZ2 AEE |
1,200,000 1,200
= 840
Al 252
- 108
ARG L Kt EI(AMEXS0ILRISITH) 81,818 79,917 1,901
= 32,721
Al 14,727
- 34,364
101 21A4H| 72,518 72,217 301
= 29,007
Al 13,053
- 30,458
MU IIRINZZE2NSES 72,518 72,217 301
OM=HEU Y a2 70,268,000 70,268
= 28,107
Al 12,648
T 29,513
OtdEA 2l =25 & 257 Fad|
1,750,000& 1,750
= 700
Al 315
- 735
OsYSAA 24 A=l 500,000 500
= 200
Al 0
- 210
201 eer23y| 9,300 7,700 1,600
= 3,720
Al 1,674
- 3,906
01 At2teltl 8,600 7,200 1,400
Out=i 28= 3,000,000& 3,000
= 1,200
Al 540
- 1,260
OU=sld £ Itg SRl
5,600,000& 5,600
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= 2,240
Al 1,008
- 2,352
02 35244l 700 500 200
OtZEE ESXY &Y
700,000 700
= 280
Al 126
- 2%
A THOH L K2l SHOI(AAIER S ZHOll 2 E) 61,138 59,880 1,258
= 24,456
Al 11,005
- 25,678
101 e124d| 56,638 55,880 758
= 22,655
Al 10,195
- 23,788
04 JIZtN22 XS+ 56,638 55,880 758
OA&HAIER S ZH ol 2 et 54,838,000 54,838
= 21,935
Al 9,871
= 23,032
OotEE 2 28 ¥ 857 24|
1,400,000& 1,400
= 560
Al 252
- 583
OSESAA 24 A= 400,000& 400
= 160
Al 72
- 168
201 fer= 3| 4,500 4,000 500
= 1,800
Al 810
- 1,890
01 AtR2te|HI 4,000 3,500 500
OGBS SO E Xt SRl S
4,000,000& 4,000
= 1,600
Al 720
- 1,680
02 S3=gHl 500 500 0
OLHAIEHEE N E e |RFHl S
500,000& 500




SA BRI
M ARIE A
el AEEE g 2ed EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 200
Al 0
- 210
ArETHO L Kt EII(MBHNSHELHE-3 &) 199,472 195,236 4,236
= 99,736
Al 29,921
- 69,815
201 et 3| 12,000 10,800 1,200
= 6,000
Al 1,800
- 4,200
01 AtR2t2|HI 9,600 8,400 1,200
OWZE NI &XtHl S 9,600,000& 9,600
= 4,800
Al 1,440
- 3,360
02 S3=gl 2,400 2,400 0
OWZE YNt R=Hl S 2,400,000& 2,400
= 1,200
Al 360
- 840
401 AIZHIX S0HH 187,472 184,436 3,036
= 93,736
Al 28,121
- 65,615
01 Al&H| 187,472 184,436 3,036
OatddoliEs HZSMT
183,872,0002 183,872
= 91,936
Al 27,581
T 64,355
OtdEA 2l =25 & 257 Fad|
2,800,000 2,800
= 1,400
Al 420
- 980
OSESAA 24X 28| 800,000 800
= 400
Al 120
- 280
AtETHGH Xt EDI(AHHHH S0 2 LM S-XtH2) 5,704 5,703 1
= 2,852
Al 856
- 1,99
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405 KHakE SH 5,704 5,703 1
= 2,852
Al 856
- 1,99
01 IR =S FSHI 5,704 5,703 1
Oate ol s GZS MY
5,704,000& 5,704
= 2,852
Al 856
- 1,99
Sd= 8d x4 1,107,508 1,254,086 A146,578
SE=A =d 2l 1,107,508 1,254,086 A146,578
¥ =4 22 117,762 444,331 326,569
101 @12A4H| 40,502 38,771 1,731
MU IIRINZZE2NSES 40,502 38,771 1,731
O332DI2tN2 2 A &3
86,3032 x2&H 2002 34,522
OJIZtMZ27T 4428 23 3,880
- RplizRez 34,521,000 x4. 5% 1,55
RoAYTERYS
34,521,000 %3.545% 1,224
- NELZERES 34,521,000 *1.75% 605
MIHEERES 34,521,000 1. 0% 346
ColE)|QuREReS
1,175,0002 %12.81% 151
O=ad&cIIZH 22X =& 1,200
SAZE 300,000& x2&H 600
e 300,000& 2 600
OSH2IIZHH SESAHL R 2H|
100,000& 2 200
OB 2F U 57 2|
350,000 x2&H 700
201 fer= 3| 260 560 A300
01 AtR2t2|HI 260 560 A300
OSIHEE )l =8 200,000 200
OALHEESY 28 60,0002 60
206 M=l 5,000 5,000
01 MZH| 5,000 5,000
OZ& el 2 5,000,000& 5,000
401 AIZHIX S0HH 72,000 400,000 /328,000
01 A28l 72,000 400,000 328,000
S AE2E 30,000,000 30,000
O(FREOUA)ZENI0IZH L S 4
2 x4 ,000,000& 30,000




2A:

=S Ealys )y
t

M DA=T Y X4
& ZR=A =4 22 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SIEEEIEEEET]
12,000,000 12,000
=X =4 2el 985,926 806,535 179,391
101 @1A4H| 243,030 348,912 105,882
04 JIZtNZ22 XS 2+ 243,030 348,912 106,882
OsX2DIZtN2 24 &=
86,3032 x 122 *200 207,128
OJIZNZ22Xt AHESRE= 23,302
- SUHsSREs 207,128,000& *4. 5% 9,321
R L
207,128,000 *3.545% 7,343
- IEEERES 207,128,000 *1.75% 3,625
- MIHEERES 207,128,000 1. 0% 2,072
CoIE)IQYEHE
7,343,0002%12.81% 941
OsX2cDIZtNZ22 A =4 7,200
SXEE 300,000& * 12 3,600
CHEE 300,000& *12H 3,600
O=XZ2DIZtH SESAHL R =H|
100,000& * 12 1,200
OonP Y 2B L F57 Y|
350,000&* 12 4,200
201 =3 72,830 80,423 AT,593
02 35244l 72,830 80,423 AT,593
O3ttt =Xl dot=E2
45,0003 x220 A+ 123 11,880
Ostet =Xt &=
45,0002 #3000 A+ 122 16,200
O&IIANE =28l 400,000 * 150K 2 6,000
OXHEHl KX 5,000,000& 5,000
OXSxt SBMHRE = 500,000 500
ONSA IlEA= 250,000 250
OXS A 200,000 200
OXsi 2= 2,800,000& 2,800
Oxtgr= Il 30,000
- mETE 20,000,000 20,000
- At =cll 10,000,000 10,000
206 M=l 31,200 39,000 AT7,800
01 M=4l 31,200 39,000 A7,800
OJt24= sttt =X 22 A
39,000,000 »80% 31,200
401 Al HIZL S 0HYI 628,000 335,000 293,000
01 Al&HI 628,000 335,000 293,000
OJtZ2= 24] A 1,000,000& «20== 20,000




FA BHS

B A=K B 14
=@l =X 24 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJtz+ &d 20,000,000 20,000
OJt2= ottt S0 Sl
50,000,000 50,000
O=FEAL 28+ =2
100,000 »1005= 10,000
OMdieIg=(mais Z&) A
1,000,000& 10== 10,000
Ok=zY 1= =3t 4X
20,000,000 20,000
Odll=0l BXS3 BH2AAE WA
28,000,000 *1IH £ 28,000
Odigz 2a =X FAl2c
120,000,002 120,000
O(=F0IOIA ML= T2 HH|
30,000,000 30,000
O(FEEOMEHESZ 2 FHUSR Jt2
SBBN A 100,000, 00024 100,000
O(Z=DIZ004H BT 512 =XI0H F
A+ 220,000,000& 220,000
405 KHoHF S| 10,866 3,200 7,666
01 ML ESFSHI 10,866 3,200 7,666
OsA2elES&l 3,866
IS 1,000,000 *1CH 1,000
SRSl 726,000 ~1CH 726
Ol=2I 600,000 2CH 1,200
QIZIAL ZTIRAI| T
940,000 *1CH 940
OZZ2X FAHAIE HIZ 74 7,000
- =ASAT 1,000,000 *34] 3,000
=d=i- 2,000,000 * 100 2~ 2,000
- AHHEHE =41
300,000 *20H A 600
S22 HHIR 140,000& *10ea 1,400
sX2elH(S2A) 2el 3,820 3,220 600
201 Ler23 | 820 1,220 A400
01 AtR2t2ltl 820 1,220 A400
@] 350,000 2 700
OXM=CHa EFotdl 30,0003 x2&H 60
OO0t=2lt| 30,0002 x2&H 60
305 HHal= S 3,000 2,000 1,000
01 that= S 3,000 2,000 1,000
O R4 Mol 24| 3,000,000& 3,000
HH2IJHI(ZHAGE) 239,564 238,570 9%4
QI 2HHI(F At Dt) 185,556 171,701 13,855
el =gl 185,556 171,701 13,855




A BHAS
. HY2IZU|I(GH G
CHel: QI 2AH|(ZMANDL) (S &)
. = SIE]
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
101 eI t| 171,464 157,877 13,587
02 JIEtA S 39,556 34,181 5,375
OAIZIEEHLI I HBSRA(1Z) 39,556
- S 2,475,6603 128 29,708
NE 60,0002 * 122 720
Saxesg
2,259, 7503 »84%*40/365+5%+ 12 1,302
= 175,000 %35/40A1 2+ 128 1,838
HMFAH| 140,000& «12& 1,680
CHelatEt| 50,0003 *35/40A1 2t 128 525
A2l 2R 96,2002 128 1,155
- D2 A 919,000& 919
- BEERYES 1,709
-=0ALEH 29,707,920 *3.545% 1,054
-LOoIA) | QAUEE
1,053, 1503 *12.81% 135
-NESE 29,707,920 %1.75% 520
03 SR (RIAHY) 22X E=> 131,908 123,6%6 8,212
O=kzeld 22X 23 128,268
=g
(3,835,0602 * 128 )+(3, 369,830 x 128 ) 86,459
FHoudgt 3,360
-ESY 140,000 x2H » 12 3,360
Sc|= 4| 12,136
-HH gAY 140,000 2F 122 3,360
-GEFOH|
(3,835,060 *0.4*23] )+(3,369, 8302 x0.4%23] )
5,764
-0z
(3,706,8132*0.38)+(4,218,566& +0.38) 3,012
AXRS It
(18,3792 +8AI2+*192 )+(20, 9192 *BA| 2H+25
2) 6,978
S22
(18,3793 *1.5%x4 A1 2F%522 )+(20,9192 *1.5%4 Al
2h522) 12,261
CARIRIZS =H
(18,379 *150%* 10A| 2+* 122 )+(20, 9192 % 150%+ 1
OAlIZ2H+128) 7,074
O=sXzeld |25
20,0003 x 1+ 12& 240
O=Xzeld 2elZd=h =%
100,000& 2F 122 2,400
O=XZeld SHEALL 24X =]
100,000& *2H 200
O=Xzeld HHESE 2 B3 7]
400,000& x2H 800
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